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QUESTION NO: 1

Given:

10. class One {

11. void foo() { }

12.}

13. class Two extends One {

14. //insert method here

15.}

Which three methods, inserted individually at line 14, will correctly complete class Two?
(Choose three.)

A. public void foo() { /* more code here */ }

B. private void foo() { /* more code here */ }
C. protected void foo() { /* more code here */ }
D. int foo() { /* more code here */ }

E. void foo() { /* more code here */ }

Answer: A,C,E

QUESTION NO: 2
Which two code fragments correctly create and initialize a static array of int elements?
(Choose two.)

A. static final int[] a = { 100,200 };

B. static final int[] a;

static { a=new int[2]; a[0]=100; a[1]=200; }

C. static final inf[] a;

static void init() { a = new int[3]; a[0]=100; a[1]=200; }
D. static final int[] a = new int[2]{ 100,200 };

Answer: A,B

QUESTION NO: 3

Given:

1. public class Blip {

2. protected int blipvert(int x) { return 0; }

3.}

4. class Vert extends Blip {

5./l insert code here

6.}

Which five methods, inserted independently at line 5, will compile? (Choose five.)



A. protected int blipvert(long x) { return 0; }

B. protected long blipvert(int x) { return 0; }

C. private int blipvert(long x) { return 0; }

D. private int blipvert(int x) { return 0; }

E. public int blipvert(int x) { return 0; }

F. protected long blipvert(long x) { return 0; }

G. protected long blipvert(int x, int y) { return 0; }

Answer: A,C,E,F,G

QUESTION NO: 4

Given:

20. public class CreditCard {

21.

22. private String cardID;

23. private Integer limit;

24. public String ownerName;

25.

26. public void setCardInformation(String cardID,
27. String ownerName,

28. Integer limit) {

29. this.cardID = cardID;

30. this.ownerName = ownerName;
31. this.limit = limit;

32.}

33.}

Which statement is true?

A. The cardID and limit variables break polymorphism.

B. The code demonstrates polymorphism.

C. The ownerName variable breaks encapsulation.

D. The setCardinformation method breaks encapsulation.
E. The class is fully encapsulated.

Answer: C

QUESTION NO: 5

Given:

11. public class Yikes {

12.

13. public static void go(Long n) {System.out.printin("Long ");}
14. public static void go(Short n) {System.out.printin("Short ");}



15. public static void go(int n) {System.out.printin("int ");}
16. public static void main(String [] args) {

17. shorty = 6;

18.longz=17;

19. go(y);

20. go(z);

21.}

22.}

What is the result?

A. An exception is thrown at runtime.
B. int Long

C. Compilation fails.

D. Short Long

Answer: B

QUESTION NO: 6

Given:

11. public class ltemTest {

12. private final int id;

13. public ItemTest(int id) { this.id = id; }
14. public void updateld(int newld) { id = newld; }
15.

16. public static void main(String[] args) {
17. ltemTest fa = new ItemTest(42);

18. fa.updateld(69);

19. System.out.printin(fa.id);

20.}

21.}

What is the result?

A. A new ltem object is created with the preferred value in the id attribute.
B. The attribute id in the Item object is modified to the new value.

C. Compilation fails.

D. An exception is thrown at runtime.

E. The attribute id in the ltem object remains unchanged.

Answer: C

QUESTION NO: 7
Given:



13. public static void search(List<String> list) {

14. list.clear();

15. list.add("b");

16. list.add("a");

17. list.add("c");

18. System.out.printin(Collections.binarySearch(list, "a"));

19.}

What is the result of calling search with a valid List implementation?

A.0
B. The result is undefined.
C.a
D.2
E. 1
F.c
G.b

Answer: B

QUESTION NO: 8
Given:
10. interface Jumper { public void jump(); }

20. class Animal {}

30. class Dog extends Animal {
31. Tail tail;
32.}

40. class Beagle extends Dog implements Jumper{
41. public void jump() {} 42. }

50. class Cat implements Jumper{

51. public void jump() {}

52.}

Which three are true? (Choose three.)

A. Cat is-a Jumper

B. Cat is-a Animal

C. Dog is-a Jumper

D. Dog is-a Animal

E. Beagle has-a Jumper
F. Cat has-a Animal



G. Beagle has-a Tail

Answer: A,D,G

QUESTION NO: 9

Given:

11. public static void main(String[] args) {

12. Object obj = new int[] {1, 2, 3 };

13. int[] someArray = (int[])obj;

14. for (int i : someArray) System.out.print(i + " ");
15.}

What is the result?

A. Compilation fails because of an error in line 13.
B. A ClassCastException is thrown at runtime.
C.123

D. Compilation fails because of an error in line 14.
E. Compilation fails because of an error in line 12.

Answer: C

QUESTION NO: 10

Given:

10. class Line {

11. public static class Point {}

12.}

13.

14. class Triangle {

15. // insert code here

16.}

Which code, inserted at line 15, creates an instance of the Point class defined in Line?

A. Line | = new Line() ; I.Point p = new |.Point();

B. Line.Point p = new Line.Point();

C. The Point class cannot be instatiated at line 15.
D. Point p = new Point();

Answer: B



